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0 Miguel has 68 crayons. Which

shows the number of crayons
rounded to the nearest ten?

O A. 60
©: B 70
LG, w80

O D. 100

A gift shop had 387 shoppers one
day. To the nearest ten, about how
many shoppers did the gift shop
have?

O A. 300
O B. 380
O €. 390
O D. 400

Kori made 525 flyers for a fundraiser.
To the nearest hundred, about how
many flyers did Kori make?

O A. 400
O B. 500
@G, 530
O D. 600

106 Domain 2: Number and Operations in Base Ten

0 To the nearest ten, Eli has about
290 coins. Which could be the
number of coins Eli has?

O A. 285
O B. 298
O €. 300
O D. 320

Which is trlxe greatest number?

O A. 342 rounded to the nearest
hundred

O B. 318 rounded to the nearest
ten

O €. 301 rounded to the nearest
ten

O D. 295 rounded to the nearest
hundred

A sea lion weighs about

500 pounds. When rounded to
the nearest ten or nearest hundred,
which could not be the weight of
the sea lion?

O A. 490 pounds
O B. 519 pounds
O C. 535 pounds
O D. 552 pounds
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0 Which of the following is not true? e Lela walked her dog for 28 minutes
1 in the morning. She walked
: Siigheii g in g.
OA. 38ones i her dog for 34 minutes in the
O B. 72ones = 2tens / ones afternoon. How many minutes did
O €. 43tens = 4 hundreds 3 tens Lela walk her dog in all?
O D. 65tens = 6 hundreds 5 ones O A. 26 minutes
O B. 52 minutes
The models show the number of O C. 62 minutes
paper airplane Juan and Beth made. OD. 512 minutes i
i o
o
o g Sara has a jar of coins. There
g g 0 are 18 quarters, 13 dimes, and
o : : :
Sida Beth 12 qlckels. How many coins are in
the jar?
Which models show the total oL, 3
number of paper airplanes Juan and i
Beth made? OB. 33
0O OC. 43
H H D. 31
OA. HH > e
ufafuls
b8 HE @ For which of the following do
OHAFE you need to regroup to add the
O 2
os. AHfo numbers?
qgpoo O A: 1369 242
O0opooo :
S © Bs: 671+ 128
HHE O C. 237 + 451
OC. HHE 4 @D 452+ 161
HHHHo -
HEEEEEE|
OD. {
52 a
o
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l o Subtract.

62 — 49
O A 113
C BS 23
QO G 27
O D. 11

Which addition problem can you use
to check the difference?

92 — 37 =55

OA. 55+ 92 =147
OB. 48+44=92
OC. 55+37=92
OD. 92+37=129

Frank did chores for 82 minutes
on Saturday and for 45 minutes
on Sunday. How much longer did
Frank do chores on Saturday than
on Sunday?

O A. 37 minutes
O B. 43 minutes
O C. 47 minutes
O D. 127 minutes

@ For which of the following do you

need to regroup to subtract the
numbers?

OA. 435 — 21
O B. 928 — 645
O C. 382 — 18]
OD. 784 — 63

What is the dh;ference?
497 — 155

OA. 243

OB. 342

O .C. 5542

O D. 652

Which number makes this equation
true?

+ 452 = 541

O A. %79
QB 160
OG89
ChDy.- 998



